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The Old-Age Pension System for Active Workers Aged 60 – 64 
 

 

 

 In cases when the total amount of monthly wages (monthly income including bonuses) and a pension benefit, including the fixed portion (equivalent to 
the basic pension benefit of a person aged 65 or older), exceeds ¥280,000, a certain amount of pension benefit is suspended by the proportion of 1 in the 
pension benefit against 2 in wage increase. 

 In cases when the monthly wages (monthly income including bonuses) exceeds ¥480,000, the amount of the pension benefit is suspended by the same 
amount of the wage increase. 

* According to the 2004 revision of the system, the scheme of 20% pension benefit suspension during the working period was abolished. 

Total amount of monthly wages 
(monthly income including bonuses) 
and a monthly pension benefit 
(including the fixed portion) 

¥280,000 
A person with a 
monthly pension 
benefit of ¥270,000 
 

A person with a 
monthly pension 
benefit of ¥100,000 
 

In the case of a person with wages of 
¥200,000 with a pension benefit of 
¥100,000 

In the case of a person with wages of 
¥400,000 with a pension benefit of 
¥100,000 

In the case of a person with wages of 
¥500,000 with a pension benefit of 
¥270,000 

¥480,000 

Wages 
¥180,000 

Wages 
¥200,000 

Wages 
¥380,000 

Wages 
¥400,000 

Wages 
¥500,000 

Wages 
¥515,000 

Wages (monthly income including bonuses) 
 

[Examples of calculating the amount of benefit suspension] 
①In the case of a person with wages of ¥200,000 with a pension benefit of 
¥100,000: ¥10,000 benefit suspension 
When the total of the wages and pension (¥300,000) exceeds ¥280,000, the 
amount of benefit suspension will be 1/2 of the exceeding amount (¥300,000 
– ¥280,000 = ¥20,000), which is ¥10,000. 
(The monthly pension benefit will be ¥100,000 – ¥10,000 = ¥90,000) 
②In the case of a person with wages of ¥400,000 with a pension benefit of 
¥100,000: full benefit suspension 
When the total of the wages and pension (¥500,000) exceeds ¥280,000, the 
amount of benefit suspension will be 1/2 of the exceeding amount (¥500,000 
– ¥280,000 = ¥220,000), which is ¥110,000. 
The amount of benefit suspension exceeds that of the monthly benefit; 
therefore full benefit will be suspended. 
③In cases of (Wages ¥500,000 with Pension ¥270,000): ¥255,000 benefit 
suspension 
When one’s monthly wages exceed ¥480,000, those wages are deemed to be 
¥480,000.  In this case, the total of the wages and pension is ¥750,000.  
When this total (¥750,000) exceeds ¥280,000, the amount of benefit 
suspension will be 1/2 of the exceeding amount (¥750,000 – ¥280,000 = 
¥470,000), which is ¥235,000. 
In addition, the amount of wages that exceeds ¥480,000 (¥500,000 – 
¥480,000 = ¥20,000) will be also suspended from the pension benefit. 
In this case, the total amount of the benefit suspension will be ¥255,000 
(The monthly pension benefit will be ¥270,000 – ¥255,000 = ¥15,000) 
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The Old-Age Pension System for Active Workers Aged 65 and over 
 

 

 

 The full amount of the basic pension benefit will be paid. 
 In cases when the total amount of monthly wages (monthly income including bonuses) and the benefit from the Employee’s Pension (the remuneration-

based portion) exceeds ¥480,000, a certain amount of pension benefit (the remuneration-based portion) is suspended by the proportion of 1 in the 
pension benefit against 2 in wage increase. 

 
[Examples of calculating the amount of benefit suspension] 
①In cases of (Wages ¥400,000 with Pension ¥100,000): ¥10,000 
benefit suspension 
When the total of the wages and pension (¥500,000) exceeds ¥480,000, 
the amount of benefit suspension will be 1/2 of the exceeding amount 
(¥500,000 – ¥480,000 = ¥20,000), which is ¥10,000. 
(The monthly pension benefit will be ¥100,000 – ¥10,000 = ¥90,000) 
②In cases of (Wages ¥600,000 with Pension ¥100,000): full benefit 
suspension 
When the total of the wages and pension (¥700,000) exceeds ¥480,000, 
the amount of benefit suspension will be 1/2 of the exceeding amount 
(¥700,000 – ¥480,000 = ¥220,000), which is ¥110,000. (The amount of 
benefit suspension exceeds that of the monthly benefit; therefore the full 
benefit will be suspended.) 

Total amount of monthly wages 
(monthly income including 
bonuses) and a monthly pension 
benefit (including the fixed 
portion) 

In the case of a person with wages of ¥400,000 
with a pension benefit of ¥100,000 

In the case of a person with wages of ¥600,000 
with a pension benefit of ¥100,000 

¥480,000 

A person with a 
monthly pension 
benefit of ¥100,000 
 

Wages 
¥580,000 

Wages 
¥600,000 

Wages 
(monthly income 

including bonuses) 
 

Wages 
¥380,000 

Wages 
¥400,000 

Employee’s 
Pension 

Wages 

Basic Pension 
The basic pension benefit will be paid 
in full. 
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